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NO Calculators

1. Find the possible values of k, 
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 is greater than 0 for all x. 

2.  If 
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3.  Solve  
a)  
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c)  
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4.  Solve for x 
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a)   
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5. The graph of 
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is obtained from the graph of 
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 by a transformation.  Rewrite the function  in the form of 
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 and find the values of A and B. 
6. Consider the equation 
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a)  Write down the numerical value of the sum and the product of the roots of this equation.

b)  The roots of this equation are consecutive terms of an arithmetic sequence.  Taking the  roots to be
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, find one of the roots. 














7.  Rewrite
[image: image17.wmf]()5

fxx

=-

 as a piecewise-defined function. 
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